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N
~
1/

1)

=
=

= L5

=
=

2 [l R

7

=1
EF

(x107% i Gy/h)

5

B RARA

+

(&K= (mm)

50

O M~ © I < M N — O

]
X,

— REX
(A)

40

30

20

10

7

=1
=EF

(x107% i Gy/h)

—
™
~
N
—

0€/¢!1
6¢/¢!1
8¢/¢l
Le/el
Ge/cl
ve/cl
€¢/21
¢c/cl
le/cl
0¢/2!1
61/21
81/¢l
L1/21
91/21
GL/¢1
viL/cl
¢l/cl
LL/el

5

[

2) 5 RARB

oL/¢l
6/¢1
8/¢!1
L/2)
9/¢1
G/¢l
v/cl
€/¢1
[744"
L/clh

+

(%K= (mm)

50

— REX
(B)

40

30

20

10

Le/cl
0¢/¢!1
6¢/¢!1
8¢/¢!
Le/el
Ge/cl
ve/cl
€¢/¢!1
¢e/cl
le/cl
0¢/2!1
61/¢1
81/¢l
L1/21
91/21
GL/¢1
4%}
¢l/el
LL/el
oL/¢l
6/¢!1
8/¢!1
L/2)
9/¢1
G/¢l
v/cl
€/¢1
[744"
L/clh

(x107% i Gy/h)

2) G RARC

+=

(%K= (mm)

50

o ~ © 1 <

— REX
(C)

T 2K E

40

30

20

10
0

Le/cl

D O
N ™
RS
N N
— -

(x107% i Gy/h)

8¢/¢!
Le/el
Ge/cl
ve/cl
€¢/¢!1
¢c/cl
le/cl
0¢/2!1
61/21
81/¢l
L1/21
91/21
GL/¢1
viL/cl
¢l/cl
LL/el
oL/¢l
6/¢1
8/¢!1
L/2)
9/¢1
G/¢l
v/cl
€/¢1
[744"
L/clh

A1) RAKD

+

(&K= (mm)

50

(D)

40

30

20

10
0

Le/cl
0¢/2!1
6¢/¢!1
8¢/¢l
Le/el
Ge/cl
ve/cl
€¢/¢!1
¢e/cl
le/cl
0¢/2!1
61/¢1
81/¢l
L1/21
91/21
GL/¢1
viL/cl
¢l/cl
LL/el
oL/el
6/¢1
8/¢!1
L/2)
9/¢1
G/¢l
v/cl
€/¢1
[744"
L/clh




